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BlEach question carries equal marks. +

o, i] E o i'k-[: l'#ffiH J'Jfi:l J,:'','i"#'!f '"t ) Faatsres of culture.
2) Problems of Elderlv.3) Inter Group Conflict.
4) Female Feticide.
s) Physical and mental Disability.6) Regionalism.
7) Features of constitution.

Q.2 A) Explain the characteristics ofurban and rural areas inIndia.
B) Explain the characteristics of tribal communities.

!] Explain the inequality 
"3*", by stratification.

^ . ?l P*o,u!3 the nrobler, ,"ur", Ly iiigrirti" differences.y." ^, uescrtbe the oroblems casused by caste differences.B) Write the basic duties of Indian Citizens.

c) Explain the importan""?Irc of tolerance,peace andcommunalism in strengthering the socialfailii. 
"f irii*society.

D) Exptain the importance of local self _government bodies, in cities and rural areas.
Q'a A) How to create awareness about HIV in Sociefy.B) .lchild abuse',as a problem E;;;;

-"] Write the causes un, 
"3.1,, of trafficking in women.D) Write the causes and effects 

"iiir" p."Uf"ms of theelderly in Indian Society.Q's) Write short notes.
1) Features ofUrban areas.2) Preamble of Indian constitution.3) Territarial Conflicts.
4) Features of Indian Culture.s) Causes of Smoking.
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Duration:- 2% Hr.

Note:- A)All the questions are compulsory'

B)Each question carries equal marks'

cirigr,"' (Diagrams /Charts) indicate fullrnarks'

c$q6r) t{ffi t'#qr sg 6-{r.1eturqrfl qrsl

o €q'fffr aRrd
?) qaran glrgr.
i) erim sgo €ud.
v) S gw5ur.
\) qTf{tro E rrrqffi+- s{iirrd.
q) ereRrm-dtq
br €frEr+rfr afrrd

o.ru oi ;.riTrfi-d qre$ q qffiq qTqrfr aRrd sE 6-{T'

E) qTfrlql{ft qEEIqTd aRrd sg 6-{I'
rfi'qI

iD wtrown-fi Frnfur VQd sftrirrdl tug 6-fl'
s) qTn-o qEiq* Mq dur<T srr€fl sE o-{r'

o.,o u,, 
"rd-latia'Mur 

dqlqT qqsii qufq q'al'

E) Hrifrq "fufr gaSa o-dq ftrgr'
frliEr

iF') "r{R-dq qrTrqlm qrmfrs qiti't qWS a.wqTsrd

*ftqar,qfiilfli onFI stq'aFo mdrd tE qfoqut

cd rfrAa"sg 6rt
s) ffi qffi ffi -""m errrjrfi 6trq €erra qEE

sg 6TI .

c vrn€r) G..*i.a.M qrrlQTT sflc{rd o.qn qgfit
FrTiuI o-s qr-o-fr.

"l "Erdqirqrr -ss'sc-sr "H#",
tF') rTFf,iqr ilw.-S 6-{'fr E qftq-rq firdr'

=i,{Trfiqqqffi qgrqrsqsidatfr qqt{uirq

ftr6r
cqil) ftn-rftrdr. 1ffiilq) qrf,fr rlrlrfr aRrd

t) qn-fiq {rqqdim ffiTltl-fl.
t) fleRro €q{
Y) qTrdq $qtrS aftrtr
q) quur-+rfr a-tui.
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